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[7of. Lo)la{?,&)' began the sessim with an exploratory gueslirn about The
Stafement of the Semi—Civele Law: What liad of informathen

do we get absut the a'jem/a/ues.? The observahon here is that
the object an He theorem (s net the same as the ‘(‘j,DI.Cd/ em/air:'ca./

measure, even though Some pumervical experiments suggest That

tae behaviers are simy lar.

Radoslay  presented the following:
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Radoslav agreed +o and will ”"ﬂ/‘e/sfmu//rfe hlkﬁaﬁm/md of tl'gem/z&w
Considered an 2he fefeﬁm'ng ,as well aq L, for a ,&m;e fixed N.

Ha/‘nl.ny’s Presen‘h'l’r'm« on C/assfca/? Matvix Gr‘m«(ln§:

S/<ew Fl’e{é’/: Sef K wi o,oemh'rn B wid =7 . ha/w‘ng Hhe

preperty:  a-(b+c) =@b) + @) VabcekK.
K is abelian grovp wnder + . Take O o denste e “additive ”

identty (O+a=a Vae K). The K—{o} u a qop wnder
The W-w . . ngm,oled.'. R and C are )G'efdd) where ax

R, R C, R ~IH are shkew fielis.



[0 — R defined by fla+ib)=(a,b),
q: /H——>CL defied by ?(“*L‘*ciﬁ'ﬂ/k)———((qw‘éi))(C+<Ji)>
N ot a-f-lai-f—cj—f-dk =(a+b£)+(c+d£)j nce i}:k.

Lt K cenote a skew feld.

GL, (’K> '-:{AE M, (KY: A is fnverHka:{A eM (K<), def‘(A)¢o}
(Recakt: Ae M, (K) js invertible if 3 BeM,(K) st AB=BA=1I) .
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